IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:) Chantar 11 Casa No
HAYES LEMMERZ INTERNATIONAL, II) Chapter 11 Case No. NC.) 01-11490-MFW
et al.,) (Jointly Administered)
 ,)
Debtors.)
)
	AG LLP FOR COMPENSATION AND
	OR THE PERIOD FROM September 1, 2002
TO Noven	nber 30, 2002.
Name of Applicant:	KPMG LLP
Authorized to Provide	
Professional Services to:	HAYES LEMMERZ INTERNATIONAL, INC.,
	et al.
Date of Retention:	FEBRUARY 14, 2002
Date of Recordion.	1 ADDITION A 11, AVAD
Period for which compensation	
And reimbursement are sought:	September 1, 2002 to November 30, 2002
Gross amount of Compensation sought	
As actual, reasonable, and necessary:	\$ <u>348,110</u>
•	
Gross amount of Expense Reimbursement	\$ 2.626
sought as actual, reasonable, and necessary:	<u>\$ 2,626</u>
This is an: \underline{X} interim final	application
The total time expended for the preparation of t	this application is approximately 12 hours and the
corresponding compensation to be requested on	
\$1,200.	· · · ·

Local Form 101 (Fee Application Cover Sheet)

Date Filed	Period Covered	Requested		Approved	
		Fees	Expenses	Fees	Expenses
4/15/02	12/6/02 to 2/28/02	\$1,203,527	\$9,426	\$1,203,527	\$9,426
7/16/02	3/1/02 to 5/31/02	\$1,218,074	\$19,407	\$1,218,074	\$19,407
11/18/02	6/1/02 to 8/31/02	\$ 301,210	\$1,612	\$	\$
1/10/03	9/1/02 to 11/30/02	\$348,110	\$2,626		

Local Form 102 (Fee Application / Attachment B)

Grand Total:	Joned Inni in 2002	L		\$ 348,110
Parmigiani, Laura	Assurance Sr. Associate Joined firm in 2002	\$250	15.2	\$3,800
Zulke, Nicholas	Assurance Associate Joined firm in 2002	\$175	9	\$1,575
Becker, Stacy	Assurance Associate Joined firm in 2002	\$175	104.5	\$18,287
Coerver, Kenneth	Tax Manager Joined firm in 2002	\$200	9	\$1,800
Woll, Christopher	Tax Manager Joined firm in 1997			
	Joined firm in 1999	\$400	81.6	\$32,640
Lawrie, Gretchen	Joined firm in 2001 Tax Sr. Manager	\$330	65.2	\$21,516
Abrams, Jason	Joined firm in 2001 Assurance Associate	\$200	28.6	\$5,720
Abrams, Jason	Joined firm in 2001 Assurance Associate	\$167	8	\$1,336
Wheelock, Tammy	Joined firm in 2000 Assurance Associate	\$200	27	\$5,400
Carroll, Lisa	Joined firm in 2000 Assurance Sr. Associate	\$250	15.8	\$3,950
Carroll, Lisa	Joined firm in 2001 Assurance Sr. Associate	\$225	54	\$12,150
Frankel, Jason	Joined Firm in 1995 Tax Sr. Mauager	\$425	89.6	\$38,080
Wolf, Thomas	Tax Sr. Manager	\$425	11	\$4,675
Heroux, Michael	Tax Senior Manager Joined firm in 1999	\$425	0.5	\$212.5
Durant, Stacie	Assurance Sr. Manager Joined firm in 1994	\$388	0.4	\$155
Sobczak, Ronald	Assurance Manager, Joined firm in 1996	\$388	60	\$23,280
Ward, James	Assurance Sr. Manager, Joined firm in 1995	\$400	15.7	\$6,280
Ward, James	Assurance Sr. Manager, Joined firm in 1995	\$388	54	\$20,952
Tansey, James	Tax Sr. Manager Joined firm in 1998	\$425	44.1	\$18,743
Moresco, Scott	Joined firm in 1997			
	Joined firm in 1985 Tax Partner	\$600	20.5	\$12,300
Madden, David P.	Joined firm in 1974	\$600	0.9	\$540
Karpen, Patrick	Joined firm in 1969 Tax Partner	\$600	5.9	\$3,540
Coogan, James	Joined firm in 1989 Assurance Partner	\$555	1.8	\$999
Borin, Mark	Joined firm in 1989 Assurance Partner	\$500	27.8	\$13,900
Borin, Mark	Joined firm in 1977 Assurance Partner	\$450	28.5	\$12,807
Tricarichi, Anthony	Joined firm in 1982 Assurance Partner	\$555	12.0	\$6,660
Meter, Elizabeth	Assurance Partner	\$555	138.4	\$76,812
	Obtaining License to Practice. Area of			
	Prior Relevant Experience. Year of	2002)		
Person	Years in that Position.	effective October 1,		
Name of Professional Person	Position of the Applicant Number of	Hourly Billing Rate (including changes	Total Billed Hours	Total Compensation

Compensation by Project Category

Project Code	Project Category	Total Hours	Total Fees
10532566	Tax Advisory Bankruptcy Project	310.0	125,078
10616086	Quarterly Review Procedures – 2002	445.5	154,130
10546929	Employee Benefit Plan Audits	36.1	12,578
10641673	Tax Consulting-Post July 2002	12.4	5,428
10743735	Annual Plant Audit – 2002	67.4	33,321
10747279	Annual Audit - 2002	57.6	17,575
Grand Total:			348,110